Rising Third Grade
Summer Packet

Optional Summer Reading, Writing and Math
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Summer Readins Los

*Record all the great readins you’ve done over the
summer. | hen c?ﬂooae one fiction and one nonfiction book
and comp|e1‘e the attached response sheets. Return this
PockeT to your third Srade teacher on the first day of

school!

Genre

Date Book Title F or NF




Date

Book Title

Genre

F or NF




Summer Fiction Readins Response

Retell the most impor'l‘on'l' events from the s'fory in 4-5
sentences.

What was the most important part of the s'rory?

Why was this the most important parT?

List three in'reres'ring worde from the story ond their meaninss.




Summer Nonfiction Readins Response

List b ‘chcino'rins facts you learned while readins the text.

Write 2 quea'fions you still have about the Topic now that you've
finished readins the text.

Which text feature (map. diasrcm, headins. Phofosr‘aph. cap'l’ion.
etc.) he||:>ec§ you to better understand or visualize what you read?

Text Feature Paso Number




Entering Third Grade Math Packet

Name

I have checked the work completed

(answers located in back of packet) Parent Signature

Multiple Choice Questions:
Select the one best answer for each question.

1. One day at lunch Tony used straws to show his friend 3 ways to make 24.
Some straws were bundled in groups of ten. Which picture does NOT
show a right way?

» |
IR
< e 111

2. Which is a correct addition pair for 100?

A. 91+5
B.97 +4
C.92+8

3. Brent and Kayla each caught 1 fish.
- Brent’s fish was 48 inches long.
- Kayla’s fish was 22 inches longer than Brent’s fish.
Which number sentence can be used to determine the length of Kayla’s fish?

A.12+10=?
B.48-22=7"
C.48+22=7



4. Which is a correct addition pair for 100?
A. 45+55

B. 30 + 60
C. 64 + 46

5. Find the sum:

5 8 1 2
13 +0 2 12
7 5 3 2
+7 +2 +0 +7

15 14 13 16
=¥/ -3 -6 9
11 10 12 12
-6 -1 -3 -5

7. List the value of each coin.

[&

i+



8. Count the coins from someone in your house. Ask for their permission first.
Draw the coins out if needed. (Up to $2.00)

9. Which is NOT a correct addition pair for 100?
A. 98+2
B. 87+ 23
C. 66 + 34

10.Find the distance between 31 and 44 on a number line?

Tt | . AR e T T
20 3C 40 50

A. 12
B. 13
C. 16

11.How far is it on the number line from 54 to 68?

A. 13
B. 14
C.15

12. David wanted 100 trading cards. He has 55 cards. How many more
cards does he need?

A. 35
B. 45
C. 155



13.Tammy wanted 100 trading cards. She had 55 cards. Which number
sentence could Tammy use to help her figure out how many more cards
she needs?

A. 100 + =55

B. 55+ =100
C. 100 +55 =

14.Find the missing value in this number sentence: 13 + =.68.

A. 37
B. 45
C. 55

15. To find the missing value in this number sentence 29 + = 88,
you should-

A. start with 29 and add 88.
B. start with 29 and subtract 88.
C. start with 88 and subtract 29.

16. 54 birds were sitting in a tree. Some flew off. Then there were 30 left.
How many birds flew off?

A. 14
B. 24
C. 30

17. There are 19 marbles in all. How many are under my hand?




18.Farmer Tom had 39 cows in a pasture. During a storm, the fence broke and
13 of the cows wandered off. Which number sentence can be used to find
out how many cows stayed in the pasture?

A.39+ 13 =
B.39-13 =
C.134+13+13+13=

19. Mary saved $5.60 in a week. The next week she saved $1.20. How much
money did she save altogether? '

A. $4.30
B. $5.80
C. $6.80

20. Mary saved $56 in a week. The next week she saved $12. How much
money did she save altogether?

A. $43
B. $58
C. $68

21.There were 63 pumpkins in a pumpkin patch. Wanda picked 19 of the
pumpkins. How many of the pumpkins were left in the patch?

A. 82
B. 56
C.44

22. The Wildcats scored 63 points in the game. But they only scored 27 points
in the first half. How many points did the Wildcats score in the second

half?

A. 26
B. 36
C. 44



23. At the basketball game, the Wildcats beat the Bears 63 to 56. How many
points did both teams score all together?

A. 103
B. 109
C. 119

24. Find the sum or difference: Watch the signs!

8 7 6 9 3 9 6
-2 +9 +6 +8 +6 -2 +3
6 8 13 3 6 18 5
+7 +4 -7 +9 +8 -7 +3
19 18 17 9 8 6 7
-3 - 8 -4 +4 -3 +4 +6
14 7 13 8 3 8 17
- 6 +5 -8 +6 +2 +2 - 8

25. Find the difference: Remember “bottom bigger better
borrow” For example: 52 — 16, the 2 is bigger than the 6, so you need
to borrow from the 5 (tens).

28 34 47 75 64 41 69
-9 -7 -19 -37 -14 -9 -5



26.

2.

28.

29.

30.

35.

36.

37.

10

There were 654 geese on a pond when another flock of 135 geese arrived.
How many geese were on the pond then?

A. 789
B. 799
C. 889

The sum of 587 and 221 is closest to

A. 400
B. 800
C. 900

The sum of 313 and 406 is closest to

A. 100
B. 700
C. 800

Estimate the sum of these two numbers: 167 + 122 =

A. 200
B. 250
C. 300

Jim wants 500 trading cards. He has 50 cards. How many more cards does he
need? (Do this in your head, without pencil and paper or calculator.)

A. 400
B. 450
C. 550

Write the number six hundred seven

Write the number one hundred twelve

Write the number two hundred eight




38.

39.

40.

41.

A

11

357 -1001is

A. 356
B. 347
C. 257

It took Jon a month to save $5.00. How many months will he have to save
money to buy a $25.00 skateboard?

A.2

B.5

C. 20

Baliee has 12 Yugi-Oh cards. She wants to share them equally with 3 friends.
Which number sentence shows this situation?

Which of these pictures shows 3 times 5 (3 x 5)?

1 I

42 Arthur collected 12 stamps. He gave 5 to Kevin. Which number
sentence could be used to find out how many stamps Arthur had left?

a) 12+5=011
b) 12-5=01
o) 12+7=0
d) 7-12=011
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43. Elisa arranged her checkers in a pattern shown below.

00000
00000
00000
00000

Which operation best shows how she arranged them?

A.4x5
B.4+5
C.5x5

44. Karen has 2 bowls of cereal each day. After 5 days, how many bowls of cereal
has she eaten? Show this with a drawing and write it out with numbers and
symbols, then solve it.

Drawing:

Written with numbers and symbols:

Find the answer:
A. 10

B.7

C.3

45. Farmer Jill had 3 chickens that laid eggs. Each day they laid 2 eggs each.
Which sentence shows how many eggs she got each day?

A.3-2=1
B.3+2=5
C.3x2=6
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46. Each pack of gum has five sticks. How many sticks are in three packs of gum?

Draw a picture or use objects to show this situation, then find the answer.

A.5
B.38
C. 15

47. There are six juice boxes in a pack. How many packs are needed for 18
students? Draw a picture or use objects to show this situation.

A.3

B.5
C. 15

48. Find the sum or difference:

25 46 26 58 69 39 73
+11 + 29 +37 +15 +26 +89 +17
10 13 7 15 13 10 15
9 .1 3 9 -4 -8 -6
41 67 41 73 38 42 59
-7 -28 -23 -42 -8 -13 -21

49. Fill in the blanks, skip count by 5’s.
25 k] ? " bl

509 ? 2 9
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50. Tina is having a birthday party. She has invited 20 friends. Each of her tables
seats four people. How many tables does she need?

A 4
B.5
C.6
51. What addition problem shows the multiplication 5 x 27

A.5+5
B.2+2
C.5+2

52. A whole pizza had 4 equal pieces. David ate 1 piece. Draw the whole pizza
and shade the part David ate.

What fraction of the pizza did David eat?

A %
B. 4
C. %

53. You divide a chocolate bar into 3 equal pieces. You give your friend 1 of

these
pieces. What fraction of the candy bar did you give to your friend?

Draw a picture:

A. 172
B. 1/3
C.2/3
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54. This picture shows which fraction?

u

A. 272
B. 2/4
C. 4/4

55. Bob wanted to share his candy bar with his friend Mark. He offered Mark the
following choices:

A. You can have 1/10 of my candy bar. [ |
B. You can have 1/6 of my candy bar. [ ]
C. You can have 1/2 of my candy bar. | ]

Mark wants to choose the biggest piece. Tell which fraction Mark should
choose and tell why.

A A
B. B
C.C

56. A pan of brownies is cut into twelfths (1/12). Each of the 10 students in the
speech class ate one brownie. How many were left for the teacher?

Draw a picture:

QW >

.1
0 12
2 5

57. Joe’s jump rope is 3 feet long. Sally’s jump rope is 5 feet long. How much
longer is Sally’s jump rope?

A. 2 feet
B. 6 feet
C. 8 feet
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58. Shawn used a triangular chip shaped like the one below to find the area of this
rectangle. How many triangles will fit into the rectangle? (You may trace the

triangle and use the tracing to measure.)

A. 3 triangles
B. 6 triangles
C. 8 triangles

59. A second grade square table measures 3 feet on each of the four sides. What
is the measurement of its perimeter?

A. 6 feet
B. 9 feet
C. 12 feet

60. What is the area of the rectangle below?

44— One square unit

A. 8 square units
B. 15 square units
C. 16 square units

61. Write seven hundred eight

62. Write eight hundred eighty-eight



63. Find the area of this rectangle.

A. 2 square units
B. 3 square units
C. 6 square units

64. Tell the time indicated on the clock pictured below.

A. 10 minutes to nine
B. 10 minutes to eight
C. Nine —ten

65. What time is it on this clock?

11 12 4

A. 11:45
B. 10:45
C. 9:10

66. Write four hundred ten

67. Write six hundred six

17



68. What time will it be half hour after the time shown on the clock?

L
A 12 1’\\

s >
-9 H>v 3-
8 4
7 e

A. Eight-twenty
B. Nine—ten
C. Nine-twenty

5,

69. School is over at 3:15. It is a half-hour bus ride home. What time will you
arrive home from school?

A. 3:30

B. 3:45
C. 4:45

70. Find the difference:

17 4 14 7 13 8 7
-9 -4 -6 6 -8 -4 )
12 8 6 3 9 10 9
-8 -8 .2 -0 -6 -6 -5

71. Johnny bought a notebook for $6.50. He paid for it with a $10.00
bill. How much change should he have received?

A.$4.50
B.$3.50
C.$2.50

18
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72. Find the sum:

39 48 17 69 65 24 66
+27 +33 +7 +23 +35 +27 +21

73. My piggy bank has 3 quarters. How much money do I have?

A. $0.75
B. $7.50
C. §75

74. What is the total value of this money?

75. Juan had $1.50. He was given 60 cents more. How much money does Juan
have?

A. $1.56
B. $2.10
C. $61.50

76. Jenn had $4.30. She lost 40 cents. How much money does Jenn have now?

A.$0.30
B. $3.90
C.4.70
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77. Dominick has $2.05. He gets two dollars for his allowance. How much
money
will Dominick have?

A. $2.00
B. $4.00
C. $4.05

78. Kate has $2.00. Her mom gave her 75 cents. How much money does she
have now?

A. $1.25
B. $2.75
C. $77.00

79. Tamara has $12.97. She spends $8 on a new doll. How much money does
she have left?

A. $4.00
B. $4.97
C. $8.97

80. Two tables are pushed together to make more room for a big dinner. One
table is 5 feet long and the other table is 6 feet long. How long are the two
tables together?

A. 9 feet
B. 11 feet
C. 56 feet

81. Write in words 403

82. Write in words 340

83. Write in words 701

84. Write six hundred forty-one
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85. Mom would like new pink nail polish. It costs $1.19. She asks you to count
the change in her wallet. You find:

A. There is not enough money to buy the nail polish.
B. There is exactly enough money to buy the nail polish.
C. There is more than enough money to buy the nail polish.

86. Find the sum or difference.

28 45 66 74 56 39 60

+38 -13 +26 -38 27 +29 -23
47 46 33 43 70 71 42

+27 -24 +33 +59 -46 -27 +29
57 28 53 42 70 61 66
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93. Which of these has six sides?

94. On this map, each side of a square is one block. Matt started at (C, 1), the
School. He went up 2 blocks and right 1 block. Where is he now?

Find the Place

5 ﬁ‘Zoo
4 1
: Q:@‘ Post Office
) L[:D Park
Librafy ﬁi
| ﬁcho bl
) A B C D E
A. Post .Ofﬁce
B. Park
C. Library

95. Find the sum:

8 6 4 7 2 3 9
+8 +6 +4 +1 +2 +3 +9
5 10 12 14 11 13



87.

88.

89.

90.

91.

92

Joe draws a shape that has 3 sides and 3 angles. What shape did he draw?

A. Triangle
B. Circle
C. Square

What do all squares have?

A. 4 unequal sides
B. 4 equal sides
C. 6 equal sides

Joe draws a shape that has 3 sides and 3 corners. What shape did he draw?

A. Square
B. Circle
C. Triangle

What shape is this?

(N

A. Semicircle
B. Sphere
C. Circle

Which of the following would have a curved surface?

A. Cardboard box
B. Soup can
C. Stop sign

What shape has a curved surface?

22



96. What place is located at (B, 5)?

Find the Place

A s I (-
4 Q;‘Q Post Office
o TRark |
2 TUbrary ]ﬁ
| TSchoFl
0 A B C D E

A. Post Office

B. Library

C. Zoo

97. Where is the bunny located?

Find the Pets

N o
g
T o

' A

A 8 c D

A. (B,2)
B.(C, 1)
C. (G, 3)

08. What place value is the underline digit? 647

A. Hundreds
B. Tens
C. Ones

24
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99. Where is the turtle located?

i
.
D |- { - —ﬁEﬁ_
1@
B ="
A e
1 2 3 4 5
A. (3,B)
B. (2,0)
C.2,B)

100. Use this graph about Pizza Day for the following questions.

How many pieces of pizza did Matt eat?

A4
B.9
C. 12



101. Use this graph about Pizza Day for the following question.

Each A@stands for 3 slices.

How many more slices of pizza does Tom have than Sue?
A.3
B.2
C.1

102. Which appears to be the location of the point marked on the number line?

Al
B. 1
C.1%

103. What location is the X marked on the number line below?

D I R I 2 I R
I .

A 4

A 1%
B.2%
C.3%

26



104. Use the graph about Pizza Day for the following question.

Each stands for 3 slices.
Mat ““

Sue

How many slices of pizza do Matt and Tom have together?

A.7
B. 15
C.21

105. Find the sum or difference:

29

+23

74
-26

17 58 32 17 51
+18 24 +22 +43 =27
45 88 72 54 33
- 15 +18 - 37 +34 +33

106. Complete these number patterns.

3, 6, 9, ’ ? ’ 9 ?

4, 8, ].2, 9 ’ ' 9 b ?

45, 50, , ) )

27



107. Fill in the numbers to complete each pattern:

A. 813,814,815,

9 9

B. 240, , 260,270,

C. 300, 400, .-, 100,

108. Each picture in this graph stands for 2 pieces of fruit.

=TT e

BANANAS <)

APPLES
HHHHOY
b Y
Dk

How many apples are there alto gether?
A. 6

B. 8

C. 12

109. Write the number sixty-three:

Write the number forty-five:

Write the number eighty-nine:
Write the number twenty-seven:

110. Use < or > to show which number is larger.

78 98
250 112
105 150

122 222
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111. Each picture in this graph stands for 2 pieces of fruit.

PEARS > N N
2P0 L
APPLES _ ' |
vRvEeRvRvRY,
BANANAS - i -

How many more pears are there than bananas?
Al

B.2
C.7

112. Complete these number patterns:

25,30, 35,

2 b2

9,12,15,

L] ?

130, 140, 150,

113. Sam is making 5 apple pies. He uses 4 apples in each pie. How many apples
will Sam use altogether? Draw a picture to show this.

Picture:

Answer:
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114. Maria is going to open a lemonade stand. It takes 5 lemons to make a
pitcher of lemonade. How many lemons will she need to make 5 pitchers of

lemonade?

Draw a picture:

Answer: lemons
1
| —
115. Place an X where this number should go on the number line: 2
z | | | | | | o
| I | | 1 I Jr
0 1 2 3

116. Two students were arguing about fractions. Pat said that 6/6 is more than
3/3. Chris said they are equal. Who do you agree with?

A. Pat
B. Chris

Draw a picture to explain your answer.

117. Draw hands on this clock face to show 20 minutes after 8

11 12
10 2
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118. My piggy bank has 3 quarters, 3 dimes, 3 nickels, and 7 pennies. Write the
amount of the quarters, dimes, nickels, and pennies in decimal form.

Total money in quarters $
Total money in dimes $
Total money in nickels $
Total money in pennies $
Total money altogether $

119. Write fifteen dollars and 65 cents in decimal form.

120. Write the value of this money in decimal form.

121. What is the name of the shape that is created when these two.triangles are
put together along their long edges?

>~

A. Square
B. Rectangle
C. Circle
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122. What is the temperature shown on the thermometer? Each mark stands for

2 degrees.
11C°
100°
+ s0v
il so0-
1 700
degrees
123.
Kelly placed a tile on the table like this: L Sara came by and turned the tile
like this: Sara said "It is still a square." Is she right?

Explain your answer.

124. What is the place value of the underline digit, hundred, ten or one?
26 _ten 20
237 N
487 -

368
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125. Find the sum or difference: Remember when subtracting always tell yourself
“Bottom bigger better borrow”.

135 546 71 50 354 63 426
+479 +137 -18 -26 - 235 -42 -135
42 54 135 32 88 81 48
+18 -39 -53 -28 +13 -57 -26

126. Write the following numbers:

405

732

Six hundred one

Five hundred twenty two

Congratulations!

You have completed the summer math packet! Please turn this packet into your
third grade teacher the first day of school. Keep studying your basic math facts
(addition, subtraction and multiplication!)




Entering Third Grade Math Packet

Name

{ have checked the work completed I
(anpwen fecateitin ik of packel) Parga Sigeatnre

Multiple Choic: Questions:
Select the one hest answer for each question.

straws to show his friend 3 ways to make 24.

1. One day at lunch Tony used
in groups of ten. Which picture does NOT

Sume straws were bundled
show a right way?

o Lo 0o JH
» o JUHTE T T
o/l

2. Which is a correct addition pair for 1007

A.91+5
.97 +4
92 +8

3. Brent and Kayla each caught 1 fish.

- Brent's fish was 48 inches long.
- Kayla's fish was 22 inches longer than Brenl's fish.

Which number sentence can be uted to determine the length of Kayla's fish?

12410=2
48 —22=7
C.48+22="

8. Count the coins from someoné in your house. Ask for their permission first.
Draw the coins out if needed. (Up to $2.00)

9. Which is NOT a corect addition pair for 100?

A. 98+2
87+23
C. 66+ 34
10.Find the distance between 31 and 44 on a number line?
R XYY OO0y,
E B

12
13
C. 16

11.How far is it on the number line from 54 to 687

=l
“n € L]

A.13
814
C. 15

12. David wanted 100 trading cards. He has 55 cards. How many more

cards does he need?

A. 35
(By4s
C. 155

4. Which is a correct addition pair for 100?

Ay 45 + 55 .
.30+ 60
C.64+46

5. Find the sum:

5 8 1 2 2 7 5
+3 +0 +2 +2 +6 +3 5
% g 3 v g 0 0

7 5 3 2 5 2 3
+7 +2 +0 +7 +l +5 +3
14 7 3 T © 7 2

6. Find the difference:
15 14 13 16 17 12 17
-7 =35 -6 -9 -9 -4 -8
g 9 7 7 g < %
11 10 12 12 11 13 14
-6 =1 -3 =5 -8 -5 -6
5 9 7 3 g %

7. List the value of each coin.

o2 ) ‘|I'_._

13 Tammy wanted 100 trading cards. She had 55 cards. Which number
sentence could Tammy use to help her figure out how many more cards
she needs?

A. 100 + =55
55+ =100
. 100+ 55 =

14.Find the missing value in this number sentence: 13 + =68.

A 37
B. 45

©ss :

15. To find the missing value in this number sentence 29 + =88,
you should-

L

(® start with 29 and add 88. po‘-""eﬁ\.
B. start with 29 and subtract 88. gV o0
(@ start with 88 and subtract 29. of

16. 54 birds were sitting in a tree. Some flew off. Then there were 30 left.
How many birds flew oft? :

A 14
@
C. 30

17. There are 19 marbles in ail. How many are under my hand?

@12
B. 17
C.24



aviuer Tom had 39 cows in a pasture. Duting a storm, the fence broke and
13 of the cows wandered ofT. Which number sentence can be used to find
out how many cows stayed in the pastue?

A 394 13=
39-13:
L3+ 13+ 13+ 13 =

19. Mary saved $5.60 in a week. The next week she saved $1.20. How much
money did she save altogether?

A. $430
$5.80
$6.80

20. Mary saved $56 in a week. The next week she saved $12. How much
money did she save allogether?

A. $43
B. $58
(© 368

21.There were 63 pumpkins in a pumpkin patch. Wanda picked 19 of the
pumpkins. How many of the pumpkins were left in the patch?

A 82
B. 56
@44

22. The Wildcats scored 63 points in the game. But they only scored 27 points
in the first half. How many points did the Wildcats score in the second

half?

A. 26

Q@

26. There were 654 geese on a pond when another flocK of 135 geese arrived.
How many geese were on the pond then?

(@ 789

B. 799
C. 889

27. The sum of 587 and 221 is closest to

A. 400
(B 800
C. 900

28. The sum of 313 and 406 is closest to

A. 100

® 700

C. 800

29. Estimate the sum of these two numbers: 167 + 122 =

A. 200 JeO /00 = 360

@300

30. Jim wants 500 trading cards. He has 50 cards. How many more cards does he
need? (Do this in your head, without pencil and paper or calculator.)

A. 400
@450 .
C. 550
35. Write the number six hundred seven O

36. Write the number one hundred twelve, (R

37. Write the number two hundred eight J0E

23 At the basketball giune, the Wildeats beat the Bedrs 63 (0 56 How many
points did both teams score all together?

A 103 .
B. 109
(@N
24. Find the sum or difference: Watch the signs!
8 7 6 9 3 9 6
=2 +9 +6 +8 +6 =2 +3
6 Ho 12 17 ) 7 q
6 8 13 3 6 8 5
+1 +4 1 +9 48 -1 43
3 1z b 12 14 " g
19 18 17 9 8 6 7
-3 -8 -4 +4 -3 +4 6
1o /0 13 3 & 70 13
14 7 13 8 3 8 17
-6 +5 -8 +6 +2 +2 -8
g 1 5 14 5 70 9
25. Find the difference: Remember “bottom bigger better

borrow™ For example: 52 — 16, the 2 is bigger than the 6, so you need
to borrow from the 5 (tens).

28 34 47 75 64 41 69
o) -1 -19 37 -14 -9 -5
9 <7 28 3% 50 A %
38. 357-1001s
A. 356

347
257

39. It took Jon a month to save $5.00. How many months will he have to save
money to buy a $25.00 skateboard?

s

C. 20

40. Baliee has 12 Yugi-Oh cards. She wants to share them equally with 3 friends.

Which number sentence shows this situation?

A 12-3=9
. 12+3=9
12+¢3=4

41. Which of these pictures shows 3 times 5 (3 x 5)?
P I I Y

@

472 Arthur collected 12 stamps. He gave 5 to Kevin. Which number
sentenice could be used to find out how many stamps Arthur had lefi?

a) 12+5=0

(Hr12-5=0

o) 12+7=0
ay 7-12=0



tin show i below

43 Flisa aranged her chechers i a pat

oooaa
[CEVECNVE)
Qoovo
00000

Which operation best shows how she arranged them?

®4x5
B.4+5
C.5x5

44. Karen has 2 bowls of cereal each day. After 5 days, how many bowls of cereal
has she eaten? Show this with a drawing and write it out with numbers and

symbols, then solve it.

Drawing:

OO OO OO O OO

t A 3 4% 5
Written with numbers and symbols:
5% =
Find the answer:
@10

B.7
C.3

45. Farmer Jill had 3 chickens that laid eggs. Each day they laid 2 eggs each.
Which sentence shows how many eggs she got each day?

A3-2=1
B.3+2=5
(Ci3x2=6

14
50. Tina is having a birthday parly. She has iavited 20°friends. Each of her tables
seats four people. How many tables does she need?

A4 P x * ~ AL Kk
o~ »rx * ~ P

C.6
51. What addition problem shows the mﬁltiplication 5x2?
@5+5
B.2+2
C.5+2

52. A whole pizza had 4 equal picces. David ate 1 piece. Draw the whole pizza
and shade the part David ate.

What fraction of the pizza did David eat?
A Y
@ %
C.%
53. You divide a chocolate bar into 3 equal pieces. You give your friend 1 of

these
pieces. What fraction of the candy bar did you give to your friend?

L1

Draw a picture:

A. 172

113
c.2n3

13

26 Cach pack of gum has five sticks. How many sticks are in thiee packs of gum?
Draw a picture of use objects (o show Lliis sitwation. then find the answer
\

A5 LT L1 |
B.8

©:15

47. There are six juice boxes in#a pack. low many packs arc needed for 18
students? Draw a picture ot use objects to show this situatior.

A K AK X K

B.S KK Py P
C. 15 o X S

48. Find the sum or difference:

25 46 26. 58 69 39 73
+11 +29 +37 +15 +26 +89 +17
3 15 63 13 75 Q28 90
10 13 @ 15 13 10 15
=9 =5 =3 =2 -4 -8 -6
[ b 4 b 7 2. 9
41 67 41 73 38 42 59
2l =28 23 =42 -8 -13 21
31 37 8 34 30 aF 35

49. Fill in the blanks, skip count by 5’s.
25,30, 35 70 45

50, 95, Lo | 65 7O

54. This pictue shows which fraction?

"n

A. 212

244

C. 4/4

55. Bob wanted to share his candy bar with his friend Mark. He offered Mark the
following choices:

A. You can have 1/10 of my candy bar. ]
B. You can have 1/6 of my candy bar. 1
C. Youcan have 1/2of my candybar, [ 1

Mark waats to choose the biggest piece. Tell which fraction Mark should
choose and telt why. .

AA
B.B
©c

56. A pan of brownies is cut into twelfths (1/12). Eachof the 10 students in the
speech class ate one brownie. How many were left for the teacher?

Ly L JLE, I
&?b 17/()

Draw a picture:

R~

57. Joe's jump rope is 3 feet long. Sally's jurap rope is 5 feet long. How much
longer is Sally’s jump rope?

A
®
C.

[N

A)2 feet
. 6 feet
C. 8 feet



58 Shawn used a triangulac chip shaped like the one befow to find the avea of this
rectangle. How many triangles will fitinto the rectangle? (You may trace the

triangle and use the tracing to imeasure.)

A. 3 triangles
B. 6 triangles
C. 8 triangles

59. A second grade square table measures 3 feet on each of the four sides. What

is the measurement of its perimeter?

A. 6 feet
B. 9 feet

©)12 feet

60. What is the area of the rectangle below?

—1 - E| «(——— One square unit

A. 8 square units

O 15 square units
C. 16 square units

61. Write seven hundred eight__ 105

G

62. Wrile eight hundred eighty-eight

68. What time will it be half houc after the time shown on the clock?

A. Eight-twenty
B. Nine—ten
Nine-twenty

69. School is over at 3:15. Tt is a half-hou bus ride home. What time will you

1 arrive home from school?

A.3:30

(B 345

C. 4:45

70. Find the difference:

17 4 14 7 13
-9 -4 -6 -6 -8
% O 4 / Y
12 8 6 3 9
-8 -8 -2 -0 -6
“ 0 9 3 3

71. Johnny bought a notebook for $6:50. He paid for it witha $10.00

bill. How much change should he have received?

A.$4.50

B $3.50
C.$250

63, Find the area of this iectangle.

0

A. 2 square units
B. 3 square units

@ 6 square units

64. Tell the time indicated on the clock pictured below.

@ 10 minutes to nine
B. 10 minutes to eight
C. Nine - ten

65. What time is it on this clock?

112

11:45
@ 10:45
C.9:10
66. Write four hundred ten, 9 /(l

67. Write six hundred six (3183

72. Find the sum:

39 48 17 69 65 24
#21 #3327 23 35! 427
e 41 A 92 /00 5/
73. My piggy bank has 3 quarters. How much money do I have?
$0.75
. $7.50
C. $75

74. What is the total value of this money?

66

21

75. Juan had $1.50. He was given 60 cents more. How much money does Juan

have?

A. $156
$2.10
C. $61.50

76. Jenn had $4.30. She lost 40 cents. How much money does Jenn have now?

A.$030

® $3.90

C.470



/7 Dominick has $2.03. He gets two doilius foi his alfowinee How much
money
will Dominick have?

A $2.00

78. Kate has $2.00. Her mom gave her 75 cents. How much money does she
have now?

A.851.25
$2.75
. $77.00

79. Tamara has $12.97. She spends $8 on a new doli. How much moncy does
she have lefi?

A. $4.00

$4.97
C. $897

80. Two tables are pushed together to make more room for a big dinner. One
table is 5 feet longand the other table is 6 feet long. How long are the two
tables together? ) .

A. 9 feet
(B 11 feet
C. 56 feet

81. Write in words 403_fucsr hondeed  three

20

82. Write in words 340_Theee bl Qrty

83. Write in words 701_ 512600 ) Dacarycdatred Cupes,

§4. Write six hundred forty-one_AvH 1l

87. Joe draws a shape that has 3 sides and 3 angles. What shape did he daaw?

Trinngle
. Circle
C. Square
88. What do all squares have?

A. 4 unequal sides
(B) 4 equal sides
. 6 cqual sides
89. Joe draws a shape that has 3 sides and 3 comers. What shape did he draw?

A. Square
B. Circle
©) Triangle

90. What shape is this?

N

A) Semicircle
. Sphere
C. Circle

9. Which of the following would have a curved surface?
A. Cardboard box
Soup can

. Stop sign

92, What shape has a curved sucface?

21

45 Mom would like new pink nail polish. [t costs $1 19. She asks you to count
the change in her wallet. You find:

You report to mom:

A. There is not enough money to buy the nail polish.
B. There is exactly enough money to buy the nail polish.
@There is more than enough money to buy the nail polish.

86. Find the sum or difference.

28 45 66 74 56 39 60
+38 -13 +26 =38 27 +29 23
61 1 Q2 36 a9 % 37
47 46 33 43 70 71 42
+27 =24 +33 +59 -46 =27 +29

74 22, il 102 Ny 14 1/

57 28 53 42 70 6l 66
=25 +48 =25 +44 21 24 =34
34 7 2% Bl 99 27 )

px)

93. Which of these has six sides?

94, On this map, each side of & square is'ane block. Matt started at (C, 1), the
School. He went up 2 blocks and right 1 block. Where is he now?

Find the Place

& Ej'm s
il o Post Office
: m ok
Librody [‘E
! Schopl

(-]

A 8 C D E
A. Post Office

®) Park
C. Library

95. Find the sum:

8 6 4 7 2 3 9
+8 +6 +4 +7 2 +3 9
/b /2 g /¥ o G Iy

5 10 14 11
+5 +10 +12 +14 +11 13

l
.l+



24
A What place is locaed at (B.3)?
Find the Place
5 o T
) ﬁ Zoo
Gon Post Office
3I— 1=
Cr Park
2 Librady }Ei
L Scholl
6]
A B C D E
A. Post Office
B. Libracy
Cyroo
97. Where is the bunny located?
Find the Pets
98. What place value is the underline digit? 647
A. Hundieds
@Tcns
C. Ones
26

101. Use this graph about Pizza Day for the {ollowing queslion.

Each éﬁstands for 3 slices.

Matt A A PO
Sue ﬁ‘@
Tom @@@

How many more slices of pizza does Tom have than Sue?
3
b2
C.1

102. Which appears to be the location of the point marked on the number line?

Al

B. %
©1%

103. What location is the X marked on the number line below?

b

ALY

®24%

C.3%

99, Where is the turtle Jocuted”

100. Use this graph about Pizza Day for the following questions.

Each @ stands for 3 slices.

Matt A@ A}' G_ﬁﬁ ﬁ_&

¢-"-'-.ﬂ¢,_-".f-_—.-.=.

Sue ‘
AAA

How many pieces of pizza did Matt eat?

A. 4

B.9
@12

104. Use the graph about Pizza Day for the following question.
“-‘«
Each = mmd.: Tor 3 slices.

Matt “‘
Sue
ﬁ

Tom

105. Find the sum or difference:

29 17 58 32 17 51
423 +18 24 422 +43 27
53 35 34 54 7o) 24
T4 45 88 72 54 33
26 -15 +18 =37 34 £33
g 30 Db 35 g% bb

106. Complete these number patterns.

3.6,9,/4 /5 % 2l Y Q7

4,812, 46 R0 29 2% 32 36

45,50, 53, LG, 65 | 20

25

+
=S

G/

54
-18

&

&l
oy

27



::)7 Fill in the nusmhers Lo complete each paitein
A 813,814,815, 54k 54/ SUS
B. 240, 2 260,270, A0
C. 300, 400,500, @ 700, 50O
108. Each picture in this graph stands for 2 picces of fruit-
PEARS \'i:r; T} '-E\ \g[:'_} l I
A o s
APPLES Es‘):.? @ @ é}) é;}) ‘(\9
BANANAS ’% ’:,} .w'l)
(& = -

How many apples are there altogether?
A.6

B.8
©12

109. Write the number sixty-three:___ &2

Write the number forty-five: 45

Wiite the number eighty-nine: g i
Write the number twenty-seven: o 7

110. Use < or > to show which number is larger.

78 498

250_ 2 112
s & 150
1225 ow

30

114. Mara is going to open a [cmonade stand. It takes 5 lemons (o make a
pitcher of lemonade. How many lemons will she need to make 5 pitchers of

lemonade? .
Draw a picture: KK X x X AR P
XX taXe w K X K KA
»* »x x x x
5*56°
Answer:__ &5 lemons

1
115. Place an X where this number should go on the number line: IE

116. Two students were arguing about fractions. Pat said that 6/6 is more than
3/3. Chris said they are equal. Who do you agree with?

'
A. Pat ©
(® Chuis - i |
_ i
Draw a picture to explain your answer. 3
2.6
3 o
117. Draw hands on this clock face to show 20 minutes after 8
i, B
10 2
9 > 3
«
8 Y
q
7 6 -

28

29

111, Each picture in this graph stands for 2 picces ol fruit

I'"EARS

|

APPLES

L E
)

BANANAS

How many more pears arte there than bananas?
Al
®:2
Cu7
112. Complete these number patterns:
25,30,35.40 , 45 , 50

9,12,15, 48 , A1, 34
130, 140,150, /&0, 170 , (80D

113. Sam is making 5 apple pies. He uses 4 apples in each pie. How many apples
will Sam use altogether? Draw a picture to show this.

Picture: R = R 5 . .
¥ A& xR K~ x R X X
dns =

R

Answer:__ 4 () cipnlEs
G L R iy s

3l

118. My piggy bank has 3 quarters, 3 dimes, 3 nickels,and 7 pennies. Write the
amount of the quarters, dimes, nickels, and pennies in decimal form.

Total money in quarters $_O-_./-E
Total money in dimes $__0.30
Total money in nickels $_( « 15
Total money in pennies $_O . o1
Total monc); altogether $ 1.2 1
119. Write fifteen dollars and 65 cents in decimal form.

¥5. 65

120. Write the value of this money in decimal form.

121. What is the name of the shape that is created when these two triangles are
put together along their long edges?

>~

A. Square
(B)Rectangle
C. Circle



122

123.

124.

What is the temperatute shown on the theemometer? Each mark stands for

2 degrees.

8‘7 _deprees

Kelly placed a tile on the table like this: 1—J Sara came by and turned the tile

like this: Sarm said "It is still a square."” Is she right?
Explain your answer.
Ves. The, shage fas Yt egoal aroles  and 4 f’fjt-ﬂ.{‘
corness anﬁk::s.

What is the place value of the underline digit, hundred, ten or one?

26 _ten _20
237 hundeth 200
a2 _cne T

a3
125. Find the suin or dillerence: Remember when subtracting always tell youisetl
“Bottom bigg‘cr better borrow™.

135 546 71 30 354 63 426
+479 +137 - 18 -26 -235 42 -135
by &3 53 Py ng, o2y 9/

42 54 135 32 88 81 48
+18 -39 =53 =28 +13 =57 =26
Lo 5 §F2 & o/ Y- ad

126. Write the [ollowing numbers:
405 finer faenndeedd frve

12 3500en herclad ﬁ'};}‘/‘lf 7O

Six hundred one GO !

Five hundred tweaty two HAL



